
Формат А3

В
з
а

м
.
 
и

н
в
.
 
№

П
о

д
п
.
 
и

 
д

а
т
а

И
н
в
.
№

 
п
о

д
л

.

С
о
г
л

а
с
о
в
а
н
о

РП

ЛистовЛистСтадия

ДатаПодпись
Изм. Кол.уч. Лист

№ док.

подключения круговой

дождевальной машины

ИР

 "Система капельного и дождевого орошения в д/о Шоргала Гектепинского этрапа
Ахалского велаята"

Система ирригации

8

9

6

5

1

2

3

4

2

2

2

10

11

2

2

7

Distribution point L

Connection of center pivot sprinkler irrigation unit

№ Name Unit Q-ty

A 1 2 3

1 Steel flange with pressing sleeves 160x6” Piece 1

2 Steel flange for electro-welding 6” Piece 5

3 Steel pipe for electro-welding 6” meter 3

4 Steel pipe bend for electro-welding 90°x6” Piece 2

5 Steel electric coupling with internal thread ¾” Piece 1

6
Ball valve 3/4" FM

Piece 1

7
Shut-off valve 6”

Piece 1

8 Steel electric coupling with internal thread 2” Piece 1

9
Ball valve 2" FM

Piece 1

10
Air-drain valve 2"

Piece 1

11 Steel pipe bend for electro-welding 45ox6” Piece 1

12 Gasket for flanges 6” Piece 4

13 Washer gasket 5/8” Piece 24
14

Nut 5/8”
Piece 24

15
Bolt  5/8” x 80mm

Piece 16
16

Bolt  5/8” x 180mm
Piece 8

Distribution point L

Connection of center pivot sprinkler

irrigation unit


